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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00]0.00 ~ 541 67.47| =hLls | 000 ~ 541| 1.82 9.72 s 1.00f 500 ~ 598 67.47| =hLl4 | 500 ~ 598 1.82 9.72
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{ 0.00 ~ 5.88 73.58| #n L4t |0.00 ~ 588| 1.70 9.12 s 1.00f 500 ~ 6.65 73.58 #=nLlst | 500 ~ 6.65 1.70 9.12
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
s 1.00{ 0.00 ~ 6.65 83.98| #n L4t |0.00 ~ 6.65 1.73 9.24 s 1.00f 500 ~ 8.02 83.98| =Lyt | 500 ~ 8.02| 1.73 9.24
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.70 84.60| =hLlst |0.00 ~ 6.70| 1.69 9.02 s 1.00f 500 ~ 8.20 84.60| =#Lst | 500 ~ 8.20| 1.69 9.02
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00]0.00 ~ 6.31 79.27| Fh LS |0.00 ~ 6.31| 2.01 10.74 s 1.00f 500 ~ 8.45 79.27| #h st | 500 ~ 845 2.01 10.74
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.92 87.61| =hLlst |0.00 ~ 6.92| 1.78 9.51 s 1.00f 500 ~ 8.54 87.61| =xnList | 500 ~ 8.54| 1.78 9.51
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.92 87.62| =hLls |0.00 ~ 6.92| 1.71 9.17 st 1.00f 500 ~ 8.58 87.62| =xLst | 500 ~ 8.58| 1.71 9.17
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 6.87 86.99| =hLlst |0.00 ~ 6.87| 1.70 9.09 st 1.00f 500 ~ 8.52 86.99| =Lt | 500 ~ 8.52| 1.70 9.09
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